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UJunnynptywghw

dwiwbwyuwihb 2wpptph rGgpGuphnb dnnG 0GphGa pbnpn hwunwbGhop
dObwgnpnbtGph hpbbg (wqwynpwéd wnpdtplGph hGunn YnpbGiwgywé
|hbG(b E:

NMwundwrlt wlb £, np dwidwlbwlwihbt wpptGph nGwpntd, npwbu
Ywln(, ntuntdbwuhpynn gnitgwbipzp nOpwghy wndbpp
wwjiwbwdnpwéd Lt OGwpunpnnn  dwiwbwywhwwnywdbbpnid  hn
nOannibwdé wpdtpbutpnd: Ywiny fuwfunygnid t nwuwywb rGgnptuhn
annth hhabwpwp GapwnpnipintGbGphg vGYy:

Qwuwywb rGgpGuhnG dnnblh  wwjowbbEph  fuwfunnd £ wnbnh

nLOGOnud Gk, Gpp dnnGih we dwuntd, npwtu rbGgpbunp, hwintu GO
quihu pwgwunpynn thnihnfuwywah jwawynpywo wpdtplbpp, wy)
UGpw, Ywagunud GO wduwnnrGgpGupnb  wpngbu, nph nGwpnid
rtgptGunplOtpp L ufuwbbpp Yynpbpwgywé Ga:



Uywnnynptigwghw (2)

Uhpwnrynn ptuwnbp.
v Awnphb — Ywpunbh ptuwn (DW),
v nitbg-Pnpuh Q-pbunp
View / Residual Test / Correlogram - Q-Statistica.
v Ppbn2-Anndphh’ Lwgpwbdh pwqiwwwunyhsbtph (LM) puunp

View / Residual Test / Serial Correlation LM Test.

o UJunynpGgwghwh wreywjnipjwbt nbwpnid wbwnp  pwgwunpb
ubwgnnnl&ph yuppwaghdp® Ywaubind
v wywnntgpbuhnb dnnb” AR(r),
v'uwhnn dhohlny dnnt|” MA(Q),
v'uwhnn dhohlnd wywnnrtgntuhnb dnnb;” ARMAC(r,Q):
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Ugwnnynptgwghw (3)
o Uwhnn dhohlny dnnbbGpnid annGiwdnpynn abénipintbp tnpynid
Gwiunpn upuwbGph $nLbyghwiny:
d Ywngh MA(Q) uwhnn dhehGh dnnbip hEnlwib k.

o UJwnnrtgpbuhnb dnnbGEpnd dnnbiwynnpynn dGénipintbp unnpynid
E npwtGu pnibyghw Gnyb dGdnLgywb Gwunpnnn wpdtpltnphg:

r Yunpgh AR(r) wywnrbgntupnb dnnbip hGnlywio k.
Ve =DBo+ BYat BoYiot -t B Y, T tzﬂ

 (r,Q9) Ywpgh uwhnn dhohGny wywnnrtgptuhnb dnnbip® ARMA(r,q)
hGunlyw b k.
Ve =Yoot BYat BoVio t et B g+ A8 5+t Ayéqt& 1 :ﬁ
npinbn & ~iid(0,6%) waYwfu, Gnybytpw pwuwéd wwunwhwlywh
aGénigntb £, npp Ynsdned £ «uwyhwnwiyy wndniy»:
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UwnwghnGwpnipjnil

EynGnaGunphywywl hGunwgnunnipynLbbGph pwquiwphy
dGpnnOGn hhabdwd 60 niuntdbwuhpynn wpptph uunnwghnGuwn
IhOGnt GOhpwnpnigjwb Ypw: Uwlwt uvunwghnbGwpniginip
dwiwbwywiht  wpptGph  hGunwgnwnnipnlbbGph nbwpnid
nUnhwbOpwwtu hwgwntbw hwanhwynn Gpunyp §:

Ns unwghnOwnp dwiwbwyuwihl 2wppbph hGn  wfuwwntihu
Yww, pbn npnud Gowbwywih, YwnGih £ hwyunbwpebptp wbwunbn,
npuintn  wl  ppwywbnd  syw  ophbwly Gpynt  wbYwfu
gnigwlbh26ph 2wppbph dholl’ «ybnd rGapGuhw»: Npwbu
wpryntbp, OL Gnwlwynd uwnwgdwd qlwhwunwywbbtpp
Juunwhbih sGG:



UwnwghnGwnpnipinih (2)

Yt ypngtGup Ynsynd £ pnyp unwghnGwp (Ywd unnwghnbwn
lwj0 hdwuwnny), Geb Gpw dhohlp L nhuwbpuphwb Yujudwé st
nhunwpyynn dwiwbwyh pbunpnipinitbhg, huy Ynduwphwghw
Ywhudwé £ dhwyb nhunwpynudbteph ahol jwugh pbunpnipiniGhg.
E(ye)=n,  V(¥i)=70, COV(Yi,Yik)=7k:

Uunwghnbwp L ng unwghnGwp 2wpptph dhole Yw fuwyuw
tnnwnppbpnipnth: Uwnwghnbwnp wpph Jpw npbk wpunwph
2nyh ohwldwag wanbgnipintp cwiwbwywdnp plnype £ ypniy:
dwiwbwyh pbpwgpntd wgnbgnipntbp  sGgnpwlbnd £ L
dwiawbwyuwihb 2wpph wpdtpltpp Gnphg dnuinGOnd GG hpkGg
Gpyuwpwdwaybun dhoht wnpatphl:



UwnwghnGwnpniginih (3)

Uwhnn dhohUh wypngbup dhpwn unwghnbwp t:

UunwghwOwp § Gwb «uyhunnwy wndntyh» ypngGup.
& ~ iid(0,0%) t=Ln. y, =0 k>0,

UunnwghnGwpnigjwb unnigdwl hwdwp yhpwednid £ Yhyp-
dniGph dhwdnp wpdwwnh ptiunp (Unit Root Test):
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UunnwghnGuwnnipjnib (4)

1d ptunp GwjuwwnbGudwd t ng dhwb wpph, wy Gwb Gpw
hwonpnwywb wann tnwppbpnipntbGbGpnid unwghnbwpnipjw
wrywjnigintp wd  pwgwywynipintp unnigbine hwadwi:
[@Guwnh dhongny Ywnpnn t uinniqyb| 2wpph hnGgpdwb Yupqp:

Guwnpp Ynsynid £ k Ywpgh hbwinbgnynn” I(k), Get wjb L hp pninn
k-1 Jwpgh wnwpptGpnigintbbGpnyd wppbpp unnwghnbwn s6aO,
uwyuwyb k ywpgh tnwppGpnepintGbGpny 2wnppp unwghnbwp t:

[@Guntph Jwuwnwpiwlb dwiwlwly wnpdGpwynnp wnbnGUwun-
Jnipjnth 60 wwihu Uywych L Gwnpgh wnbnGluwuindwyw
swhwbhoObpp:



Uywjyth L GJwpgh inbinGwunywyuwb swhwbho0bn

{wiwdw)o wyu swhwbh206ph Gpyne dnnblGphg wbunp L
nGunpdh wybih thnpp intnGUwunduwywb swhwbhy nibtgnnp:

Uwluwyb wndt hpyG, np pbunpnipintd YuwunwnpGine wrwebuwihb
wwjdwbp annG0Gph, plnhwOpwwtu, hwadtdwwnbGih (hGGa E,
wjuhbp, pwgwunpynn hnthnfuwywbp hwuitdwwnynn
annGoGpnd wGunp £ nlbGOw Gnylb swhnnwywbniyntbp: “w
GpwlOwynd E, np GG dnnGGGpphg OGUp  pwgwunpynn
hnthnfuwywbp y-0 £t phuy gnwupbp In(y)-p, wnbnGwwnywyw
swhwbh206ph yhpwenedb wapbnnibGip §
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AGwinGpahbwghwih gnpowyhgp

R2 — ESS _ Z:zl(YAt _Y_)Z 1 Z:zl(Yt _Y’\t)z :1_@
TSS S (,-Yf 30 (r-Yf TS

npuntn

ESS’ estimated sum of squares,

RSS - residual sum of squares:
 8nyg L wwihu, pt Yuiuyw| thnthnfuwlywh nhuwtpuhwh n'p dwub
pwgwuwinpynid t rGgpGupnb dnnbny:
o Muwuywlnud £ [0, 1] hwdwdé hh dhwyt wyb nbwpnid, Gpp dnnbinud
nangnpyywé t hwunwuwnnit wlnwap:
o 2quwynth t hnthnjuwywbbtph pyh GUWNdwdp. dGfuwbhyuywb wa
wpdwlOwagpnid Gnybhuy Geb dnnbintd npwbu pwgwunpnn thnthnfuwyw
wybiwgynid £ ng twywb gnpénlp:
e Gpt dnnGlG mOh 2 L wdb gnpénlb, wbwp t  hwrdwnpydp
nGuntpdhbwghwih ninnjwdé  Yuwd, wy Ybpw, Sgpngwd  gnpdwyhgp,
npuntn &2gnpunnedl wpynid £ pun dhindhnfuwuwitaGph pyh:
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